PARY/N—T7a>R =

BifE B - 5 F1064E08 A 12H A—b - R EEINITIST
IE6L | K % R OUT | IN | GR | HDCP | NET ] IEhL | K £ R OUT | IN | GR | HDCP | NET et
2R |18 (ERER 43 43 | 8.4 | 34.6 31 R =¥ 51 51 | 10.8 | 40.2
#E ER EE 45 45 9.6 | 35.4 32 KX BZ 50 | 50 | 9.6 | 40.4
3 ||’ FH 43 43 1.2 | 35.8 33 |ATEA 25 56 | 56 | 15.6 | 40.4
4 kR E—- 4 4 4.8 | 36.2 34 | RE HE 56 56 | 15.6 | 40.4
5 |&F A 4 4 4.8 | 36.2 35 |XKH =— 48 48 | 7.2 | 40.8
6 /NE B 40 40 | 3.6 | 36.4 36 /N EA 52 52 | 10.8 | 41.2
7 K ®BE 40 | 40 | 3.6 | 36.4 37 |HiI Ri# 51 | b1 9.6 | 41.4
8 BR F 46 46 9.6 | 36.4 38 |HHE 50 50 | 8.4 | 41.6
9 & Hsh 44 4 | 7.2 | 36.8 39 |FHE R 56 56 | 14.4 | 41.6
10 |ATH 2ME 50 | 50 | 13.2 | 36.8 40 |#F HiE 49 49 1.2 | 41.8
1 |#%R K 37 37| 0.0 37.0 41 [ER EZ 48 48 | 6.0 | 42.0
12 |#X BN 43 | 43 6.0 | 37.0 42 |BIZ ®Wz 59 59 | 16.8 | 42.2
13 |l EF 49 49 | 12.0 | 37.0 43 |#RW  fAl 61 61 | 18.0 | 43.0
14 &% #85h 4 4 3.6 | 37.4 44 |I\K EIE 61 61 | 18.0 | 43.0
15 |Hil #BE 51 51 | 13.2 | 37.8 45 IR ER 61 | 61 | 18.0 | 43.0
16 [Tl ¥% 4 | 44 | 6.0 | 38.0 46 /MR $FE 51 51 7.2 | 43.8
17 |# #I& 43 43 | 4.8 | 38.2 41 ‘"R =& 50 50 | 4.8 | 45.2
18 |# FF 49 49 | 10.8 | 38.2 48 |lLAX =R 64 | 64 | 18.0 | 46.0
19 B &Hsh 48 | 48 9.6 | 38.4 49 |k 2 95 | 55 8.4 | 46.6
20 |pER EDOZF 52 52 | 13.2 | 38.8 50 |&[R B 60 60 | 12.0 | 48.0
21 |xH# 28— 51 51 1 12.0 | 39.0 51 &% #UA 70 | 70 | 18.0 | 52.0
22 |thim BEE 51 51 | 12.0 | 39.0 52 |RAE i 12 72 | 18.0 | 54.0
23 |l R/E 44 44 | 4.8 | 39.2 53 |H{Z @ 11 77 1 18.0 | 59.0
24 4B R 50 50 | 10.8 | 39.2 54 EAK M 88 88 | 18.0 | 70.0
25 |pTH CZE 56 | 56 | 16.8 | 39.2 5 MR BF 90 90 | 18.0 | 72.0
26 ] RE 48 | 48 | 8.4 | 39.6
271 [N E# 47 47 7.2 | 39.8
28 IR #k 53 | 53 | 13.2 | 39.8
29 |2H - 58 | 58 | 18.0 | 40.0
30 |HF ERR 45 45 | 4.8 | 40.2
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